1] YKA. 2 1-0 20 0 20
2| AAAA. 2 1-0 43 33 10
3| T.AMA. 2 1-0 54 48 6
4 | A.O.A 1 0-1 48 54 -6
5| Y.AA. 1 0-1 33 43 -10
6 | YAMKILI. 0 0-0 0 0 1 0
7| YABE.” -1 0-1 0 20 -20
[ Exetungeviops |

THNEAQOYXOZ

Y.AM.K.TLI.

ZKOP ®INO=ENOYMENOZ
20 - 0 Y.AB.E*
54 - 48 A.O.A
43 - 33 Y.AA.
PEMNO

1| Y.ME.T. 2 1-0 92 50 42
2 |TATNEEZ. 2 1-0 60 49 11
3|Y.TA 2 1-0 46 36 10
4 | AT. AHMOTIKOY OEATPOY 1 0-1 36 46 -10
5| A.-T. AMINEAOKHIMQON 1 0-1 49 60 -11
6 | A.T. NAAYPEQTIKHZ 1 0-1 50 92 -42
7 | T.A.TIANATOY-XONAPIOY 0 0-0 0 0 1 0

ATMNOTEAEZMATA 1" ATQNIZTIKHZ

THMEAOYXOZ ZKOP ®INOZENOYMENOZ
AT. AHMOTIKOY OEATPOY 36 - 46
AT. NAAYPEQTIKHZ 50 - 92
— 60 - 49 A.T. AMMEAOKHITQN
T.A. MATMATOY-XONAPIOY PEMO




